Statistics 2 results that are not given in the examination booklet

You are also expected to recall or derive Statistics 1 results that are not given in the examination booklet.

The (2 test on a contingency table
The test statistic is 
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For a contingency table with r rows and c columns there are 
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 degrees of freedom.

Product moment correlation and regression

The formulae are given in the examination booklet but you are advised to work with the forms using sums of squares and sums of products, as given below.

Correlation coefficient:  
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Least squares regression line:   
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